1. Draw the complete detail of a network diagram corresponding to the following information.
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a. What is the critical path for this project?
b. Suppose activity D can be shortened from four days to one day. Assume all other activity times remain the same. How much shorter will the total project earliest completion time become?
c. Suppose activity I is delayed, taking eight days to complete instead of two days. Assume all other activity times remain the same. How much longer will the total project earliest completion time become?
d. What is the latest start time for activity A?
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Immediate Time
Activity | Predecessor (s) | (weeks)
A 3
B 4
c 2
D A 4
E AB 5
F ABLC 2
G DE 1
H 3 6
1 EF 2
J GH,I 4
K HI 3
L | 6
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